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int main()

{
("Hello World");

HTML,JS,CSS
Ruby

Perl

Pascal

R

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite
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%%}Qi%:t .out.println("Hello World");
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X = s.nextDouble();
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Import java.lang.Math; s 455
Import java.util.Scanner;
public class Main

{ ik

public static void main(String[] args) {
double x;
Scanner s = new Scann ystem.in);
System.out.printl ease Enter x =");

x = s.nextDetble(); EHMEDIIDIBEAICEITSN

if (x >=0){ DEND
System.out.printf("sqrt(x) = %8.3f¥n", Math.sqrt(x));

} else {
System.out.printf("out of range, x = %8.3f¥n", x);

} EHH RO TERVMESICRT

} =355
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import java.lang.Math;
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import java.util. Scanner;
public class Main
{
public static void main(String[] args) {
double x;
Scanner s = new Scanner(System.in);
System.out.printin("juuryou?");

X <= 25 B\pDIZID

X = s.nextDouble();

if (x <= 25) { BalCEITSNSED
System.out.printin("84 Yen"); _ R —_ g

} else if (x<=50){ i z: 2(5) g“ggég?’
System.out.printin("94 Yen"); e

e e IBAICRITENZESH
System.out.printin("Too heavy"); |y <= 25 Bﬁﬁbﬁt‘:?,

J x <= 50 B D LT3R

} IBaICETENZE5
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System.out.printin("84 Yen"),

System.out.println("94 Yen");

System.out.printin("Too heavy");
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import java.lang.Math;
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import java.util.Scanner;
public class Main
{
public static void main(String[] args) {
double x;
Scanner s = new Scanner(System.in);
System.out.printin("juuryou?");
X = s.nextDouble();
if (x <= 25) {
System.out.printin("84 Yen");

}else if (X <=501)1 OO EENHL D

System.out.printin(*94 Yen"); b\\.--./—
TSID
} else | 1

System.out.printin("Too heavy");
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import java.lang.Math;

import java.util.Scanner;

public class Main

{

public static void main(String[] args) {

double a, b, c, D;
Scanner s = new Scanner(System.in);
System.out.printin("Please Enter a =");
a = s.nextDouble();
System.out.printin("Please Enter b =");
b = s.nextDouble();
System.out.printin("Please Enter ¢ =");
c = s.nextDouble();
D=b*b-4*a*c;
if (D>0){

System.out.printf("x = %8.3f, %8.3f¥n",
(-b + Math.sqrt(D)) / (2 * a),

(-b - Math.sqrt(D)) / (2 * a));

}elseif (D==0){

System.out.printf("x = %8.3f¥n", -b / (2*a));

} else {

System.out.printf("x = %8.3f + %8.3f i, %8.3f - %8.3f i¥n",
-b / (2 * a), Math.sqgrt(-D) / (2 * a),
-b /(2 * a), Math.sqrt(-D) / (2 * a));
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X = -2.000, -3.000

Please Enter a
-2
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-8

Please Enter c
-8

X = -2.000

Please Enter a
1
Please Enter b
1
Please Enter c

0.866 i, -0.500 - 0.866 i
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Import java.lang.Math;
Import java.util.Scanner; P
public class Main
{
public static void main(String[] args) {

double a, b, c, d;

Scanner s = new Scanner(System.in);

System.out.printin("Please Enter a =");

a = s.nextDouble();

System.out.printin("Please Enter b =");

b = s.nextDouble();

System.out.printin("Please Enter ¢ ="); Z{4H\E D IIDIES(C

c = s.nextDouble(); 4=

f ((a==0) && (b == 0)) { =TENSHD
System.out.printin("a=0 and b=0!");

} else |

d = Math.abs(c) / Math.sqgrt(a*a + b * b);
System.out.printf("d = %8.3f¥n", d);

} SRAEAVR D TLIE AR
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elseif (a==0) && (b '=0)) {
System.out.printf("x = %8.3f", -c / b);
}
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